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1R V'-4yHAy = 2 BRAFBRA (10%)
2. BmuyaK V'+2y+5y =—sin(1). (10%)
3. FEARLRGrEE(Laplace Transform) F 7| A& (10%)
y'+2y'+y=e’, p0)=-1, »'(0)=1
4. KEH () =1 sin() 28 &3 H##4(Laplace Transform) (10%)
5. REMAZ 4 4E (Figenvalue)Fu i 4 % & (Eigenvector) (10%)
[0 10
A=|1 0 0}
0 0 1
6. FRTF 7L 458 A (Eigenvalue) (10%)
10 0 1
A=|0 cos@ -sind |
{O siné cos@J
7. B4a G=[12,0Lb=[-3.20]c=[234.d=[6-72] ¥t HE(a) axb(b)(@xb)e(@xd).
(10%)
8, BhomBa = i+ j, b=21+3 +k. HHE @) aes () |axbl. (10%)
9. MBQE  BHEEENZYEEEAER (orthogonal) » AIBLEHMBEFT » (10%)
10. f(x)=x", —a<x<a, p=2a(a) FEHIE f(x), (b) FRIOZELERHK

(10%)




